Multiplying a Binomial by Two Trinomials (J)
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Simplify each expression.

(=3b—5)(b* + Tb — 2)(2b* + 2b° — 4b?)

(=5g° + 9) (29" — 7g° — 8¢%)(—6g" — 64 + T¢7)

- (5k 4+ 4) (9K + 9k* — 2k)(—8k° — Tk* — k%)

(=5d” — 4d*)(d® — 9d* + 4d*)(—6d> + d* — 5d)

(=52 + 32 (52® + 92t — 227)(—T2? + 42 4 2)
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Multiplying a Binomial by Two Trinomials (J) Answers
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Simplify each expression.

- (=3b—5)(b* + 7b — 2) (26" + 20 — 4b7)
— —6b" — 58" — 98b° + 66b* + 136b> — 40b

(=5¢% + 9)(2¢" — 7¢°> — 8¢°)(—6g" — 6¢° + Tg°)
= 60g" — 162¢” — 490¢° 4+ 109¢" + 279¢° — 564°

- (Bk + 4)(9K® + 9K* — 2k)(—8K> — Tk* — k%)
= —360k" — 963k® — 820k" — 199k° + 30k° + 8k*

- (=5d® — 4d*)(d® — 9d* + 4d°)(—6d° + d* — 5d)
= 30d"® — 251d"? — 30d™ — 934" — 96d° + 80d°

(=52 + 32 (52” + 92t — 223)(—T2? + 4o + 2)
= 1752 + 1102 — 4292'° + 1302”7 + 502° — 1227
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